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.vlse - _Attempt'fiv‘e_ questions in all. selecti_ng at least one .
L. question from each Unit, Question No. 1 js
s com‘pulsox?r.' 5%
(Compulsory_ Question)
"(a') Discuss the role of Stack in calling a Sub<foutine and
i Teturning from Sub-routine, ' 2
;-;(b) Explain important difference between Static RAM .
{  interfacing and dynamic RAM interfacing, 3
;’:(c) Discuss the key features of Multiport memory
i configuraiions, : 2
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(d) Bring out salient features of 80286 in real address (b)) Write a program to gen

aror

Lrate square wave of pcllﬂd

it ' 5 I m sec. using CPU that runs at 10 MHz 4
. .' DE o P
ST 1 Scuss Architecture of numeric processor 3087 i in detail.
1 ; . . O 3 .3 ] 9
2. (a) Explain interrupt structure of 8 Ot 5 in detail. 5 :
: , UNIT-1V
((b) Define a Macro * SQPT that calculates square root of
a number. : : 4 (@) What do you mean by Swapping in an d Swanpinol out ?
; : 5
v la) E\plam how parameters are passed to Macro. g (b) What are the salient fe : ;
o o g teatures of ; protected vmual. address
(b) Write ALD to generate IO ec. delay ‘using ¢ 4
microprocessor system fhat runs at 50 MHz. 4 Discuss design issue of RISC processor in detail, | 9
: L 5 0 N
UNIT-11

- 4. (a) Discuss the procedurs of interfacing static RAM with
o G : s ; ¥
(b) Interface two 4K RAM chips and two 2K EPRON
chips with 8088 so as to form a completely workin

system configuration.

5. (a) Explainthe control word format of 8255 in /O modr

(b) Interface an 88§ keyboard using two §255 ports.
4 s

UNIT-11

6. (a) Interfacea t}olcal 11. bit DAC with 82 55
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